0.847 MeV 1779 MeV
41 41

41

integral ~integral peak  Net counts

(% wt)  background
2.34 619648 637998 18350 1121
15.68 512674 523388 10714 1018

1+
()



o/

counts
14000 -1

12000 4
10000 -
8000 -
6000 41
4000 J
2000 -

0847 MeV, Fe

=~

1.779 MeV, Si

-~

0 -

0.5 15 2.5

Energy (MeV)

D = double escaped peak, = single escaped peak

41 B



2.
0.847 Mev 1779 Mev
(%owt)
. raw meal 10, B,
42
Fe (%wt)*  Netcounts, Fe
(2,000 )
raw meal 10 145 11852
B 2.34 18489
4 5.16 38229
29.82 71419
A 2.74 17647
C 0.5-6.0 6273
D 0.5-6.0 8869

calibration equation ;y = 7083.2X + 1725.2, R2=0.9998

* 1

42  least squares

y = 1083.2X + 1725.2

X (% wt)

A C D

+G % Fe
1119
1122
1130
1145
1121 2.248+0.158
1116 0.642+0.157
1117 101 £0.0.158
0.9998
(4.)

o8



net counts
40000 —

35000 — /

30000 - i

25000 F /

=

oY

R’ = 0.9998

20000 - y = 7083.2x + 1725.2
15000 -1

5000 -—
0
4.2
. raw meal 10, ,
43
S (C%wtr Net counts, S

(2,000 )
raw meal 10 11.66 3379
B 15.68 10714
6 18.3 11085
33.68 40882
A 22.69 11371
C 15-25 9013
D 15-25 4314

calibration equation :y = 1715.7X - 17507, R2=0.987

*

T

1014
1018
1018
1033

1018
1017
1015

Fe (%)

A C D

%3S

16.83240.593

15.457+0.593
12.71840.592
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4.3
y = 1715.7X - 17507 (42)
y
X ' (% wt)
least squares ' 0.987
net counts
50000 -r
40000 — -
/
~ ///
30000 — ///
20000 — e "
o'l 2 y = 1715.7x - 17507
10000 — P . _
// R =0.987
L

0

43



, counts
{14000 - 1

é1zooo - 0.847 MeV, Fe
10000 - ’ | —— Raw Meal |
| 8000 - ? Cement
4655 1.779 MeV, Si
4000 - =
| 2000 -
G Energy (MeV)

0.5 0.75 1 T2R15 175 2 295~ 25 275 3

D = double escaped peak. = single escaped peak

44



6.420 MeV
A

10
15

6.420 MeV

62
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L M, source

2. 0, source

3. |, source

6420 Mev
| (

(

3.9)

shield , cm.,)
A, 5cm.
B, 10cm.
¢ 115¢m.
A,5cm.
B,10 cm.
C,15cm.
A,5cm.
B,10 cm.
C, 15cm.

integral
P/B
1.053962
1.17789
1.197388
0.981135
1.091527
1.140091
0.959204
1.084343
1.146856

Net counts, Ca
(2,000 )
2148
2975
960
6976
7492
4198
6651
5934
2956

452
386
K|
701
586
506
634
535
459

63
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1.2

1.1

0.9

0.8

0.7

INTEGRAL P/B

2 4
J——

i

]

i

|

1

i

i

1

i

i

!—'0— source atM |
—l— source at O

| |~ source at|

4.5

INTEGRAL P/B

1.2

“

0.8

0.6

0.4

0.2

detector position
3

- & -Hp’

—4&— detector atA (5 cm.) !

i

—l— detector at 8 (10 cm.) |

; —&— detector at C (15 cm.) |

I o
i
1
0

source position

3

46

65
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Net counts, Ca

8000 )
g
6000 -+ |
i —&@— source atM
4000 -+ : —— source at O
-—4— source at |
2000 + |
!
i |
0 : } { detector position|
|
0 1 2 3

4.7

Net counts, Ca

8000

f— |

\A .‘
5000 + | —&— detector atA (5 cm.)

4000 -+ /‘\:‘! —l— detector at B (10 cm.)
[ 744 il —a— detector at C (15 cm.)
200057 // :-

0

)

0 1 2 3 source position

48
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counts
| 45000
; | x20 i ]
; 40000 -+ i @ i i
{ |
| 35000 + 8 . :
| + i i
| 0000 1 M 8 H 1
‘ 3 {| ——M8 ||
: ! 8 i I
' 25000 + g ' e OB l
| 20000 - c 2 I it
: g | ——B
| [
; 15000 —+ i
| 10000 + g
x [
| 5000 +
|
f 0 e
| 1 ! " T
E 0 1 2 3 4 5 5 7 Energy (MeV)
D = double escaped peak. S = single escaped peak
M, 0
counts
| 60000
g
! 50000 + 8
+
9
| 40000 )
= —A
()
30000 - g prsoep
<o
20000 - | c
| 10000 +
!
i 0 1 Energy (MeV)I
0 1 2 3 4 5 6 7
D = double escaped peak, = single escaped peak

A B C



45

o B~ D O

Net counts, Ca
(1,000 )
3549
3487
4354

ta

361
313
330

68



Net counts. Ca

4500 ——— e

3500 4

3000 —+

—4— MOk Gj

0 - ;

water distance

0 (cm.)

411 f

counts
25000 m——ee— s A
i x20
20000 T 5.420 Mev Ca -~ Pb (D)
; ! 0cm..
15000 —+
2. cm.
10000 4 cm.
5000 -
|

Energy (MeV)

D= douDle escaped peak, = single escaped peak

412
02 4



31

41.44%

413

4.6

4

12
16
20
24
26
28

()

gain peak counts

5000 —

()

25
5.25
89
107
145
181

2
225

Net counts, Ca(1.000 )

221
2824
3006
3244
3730
4447
4571
4298

T
356
345
344
346
352
355
357
358

10

Pb yield of background = 1.540882

4000 —
2000 —
2000 —
1000 -

0 -

>
/‘

20

25

30Height (cm.)!



71

counts
B o I N . W S— Ti27 4 !
900+ | X 1 =A . -~ t:27 .24?
Erergy (VEV)
D = double escaped peak, = single escaped peak
414
32
321
5 (shde 5 1 [
(sdle 7) 3 (limestone 3 366%  136%%
2154%
3 !
5 4.1
4.7
(% wi)* Net counts, Ca (1000 )
5 3.66 (-596)

13.69 (-381)
3 21.54 2102



322

?
4.8
]

() () Net counts, Ca (1,000 .) tC

4 2.75 937 307
8 5.75 792 298
12 9.35 371 294
16 12.6 672 299
20 16.35 1189 306
24 19.55 1187 310
25.5 21,75 1580 310
27 23.25 1413 311

Pb yield of background = 1.519992

Net counts, Ca

5000 - —

4000 -
3000 -

2000 -
L.

1000 -4 //’

0 -

i :
feight (cm.)
10 15 20 25 30 s
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counts
10000 +——f}—
8000 i—
! 13301221
6000 - )
b % 33C 252
2000 :&
5 |
2 3 4 5 6 I 8 Energy (VeV)
D = double escaped peak, = single escaped peak
416
4,
41 1
6.420
MeV
11 21 61 31
B A 2, 61 3
B
A 1

49



y.
y

y = 31L5IX- 16471

least squares

Al

4.9

(% wtr

54.72
45.55
41.44
21.54

55.4
36.028

*

(wt%)
09402
Netcounts, Ca G
(2,000 )
14202 511
13873 508
11652 499
4539 505
14674 510
11266 517

(43)

(% wt)

52.393+1.637
41.453 £1.670

Pb yield of background = 1.659466
calibration equation :y = 311.51x- 1671.1

1R2=0.9402

74
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Net counts, Ca

16000 T
14000 — o P
112000 — -~

10000 - P

8000 — / y = 311.51x - 1647.1
6000 -

00 ./ R’ =0.9402

| 2000 - - ,
J Ca (% wi)]

10 20 0 40 50 60

4171

counts
14000 T}
12000 -
10000 -\
00- '\
6000 - , W%
4000 - v 1
2000 - It

0-1 *

1, 1 6.420 MevCa + Pb (D)

mgL |
e Py

1

Eneray (MeV)j
05 15 25 35 45 55 6.5 75 85 o (VeV)

D = double escaped peak. = single escaped peak
418
( 41)
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4.2 2
6.420 MeV
4.1 A 2 (A2) ¢ (C)
() 4 2 (L2)
3(L3)
4.10 4.2
Netcounts, Ca  +a
(% wir (2,000 )
(% wt)
2 54.72 13219 452
8 41.44 11273 486
3 21.54 6042 470
35-67 15446 491 63.182 £2.232
C 35-67 14488 460 58.827£2.091
A2 35-67 14348 494 58.191 £2.246
Pb yield of background = 1.659466
calibration equation :y = 219.97X + 1547.8 1Ft=0.9795
41 (L2 , 3 )
4.19
y = 219.97X + 15478 (4.4)
(4.2)

least squares 0.9795



1

Net counts, Ca

14000 - .
-~ 54.72
12000 4144~
L 2
10000 — /
8000 —
y =219.97x + 1547.8
6000 — 21.54 )
R =0.9795
4000 4-
2000 - -
— Ca (% w)
10 20 30 40 50 60
4.19
Counts
| 25000
a
3 x20
{20000 3 e
' 8
15000 | g oo
110000 -}
| 5000 ! . 3
; _ \‘%
N M me:

05 15 25 35 45 55 6.5 75 8.5 Energy (MeV)
= (ouble escaped peak, = single escaped peak

420 ( 42)



5.
7.64 MeV
5.1
1
MeV
11 2 1 61 31
B A
411
4.21
y = 478.87X+ 11511 (4.5)
y
X (wt %)

least squares 0.901

18

7.64



411

(% wt)* Net counts, Fe +CJ

(2,000 )
3 453 13307 115
A 2.74 13254 115
2.34 12873 113
2 0.324 11576 =
6 0.17 11494 107
1 0.06 11430 107

calibration equation y=s78.87x + 14511 | R2=0.901

counts

y = 478.87x + 11511

12000 —+ 2
R =0.901
11500 s
11000 Fe (%Wt)
0 1 2 3 4 5

421
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5.2 ?
2
6.420 MeV A C D
2 (L2) B 3
(L3)
4.12 5.2
Net counts, Fe  +<T
(% wt)* (2,000 )
(% wt)
3 453 12471 112
2.34 11805 109
2 0.34 10705 103
2.74 11866 109 2.893+0.260
C 0.5-6.0 11842 109 2.836+0.260
A 0.5-6.0 11585 108 2223+ 0.257

calibration equation :y =419.63X + 10652  1R2=0.9723

L2 L3
4.22

y = 41963X + 10652 (46)

(4.5)
least squares 0.9723



counts
13000 —

12500 — "

12000 ,/,,/f””’//,
)

11500 — %419.6& + 10652

—~ R’ =0.9723
11000 - o
L —
0 . ) 3 4 5 Fe(%wt)
4.22
?
Counts
25000 I
| x10 x100
| 3
15000 1 3
10000 {
5000 a BKG 2
| — EL2
0 )
05 15 25 35 45 55 65 15 @R

4.23 ( G



L
50
100, 150 200 4.13 4.24
50 100
413
(sec.) background Al P/B ratio
50 1139 1610 1.413520
100 2107 2590 1.229236
150 2694 2984 1.107647
200 4467 4815 1.077905
PIB ratio
5 —-‘:——»--' ~ e:;\‘ — —
| o —
— — m“‘“““’ s—
0.5 4 = T »
u countin? time (sec)
0 50 100 150 200 50

4.24 P/B ratio
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(cyclic activation)

4.14
INTEGRAL
(sec) background Al Net counts, Al 1T
1 50 904 1102 198 45
2 100 1832 2200 368 63
3 150 2723 3257 534 7
4 200 3641 4372 731 90
5 250 4521 5469 948 100
6 300 5423 6562 1139 109
7 350 6349 1717 1368 119
8 400 7251 8896 1645 127
9 450 8120 10026 1906 135
10 500 8995 11120 2125 142
300 Net counts, Al
a4 |
=41 204
1.78 MeV 241 300
—— 34 : 400
—— 4 ; 500
Energy (MeV)
0.4 0.8 1.4 1.9 2.4 29 3.4 3.9 4.4

4.25
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3
1 4 A B
3 B, 4 3
? A
3
4, A B
4.15
Al
Al INTEGRAL (per 575 sec)
(% Wt) bkg Al Net counts, Al -I_-G (% Wt)
B 4.04 11080 13868 2788 158
limestone 4 10.27 11130 17131 6001 168
shale 3 12.03 11759 18730 6971 175
A 5.6 11168 14504 3336 160 5.103£0.307
4.26
y = 521.48X + 674.78 (4.7)
y
X (% wt)
! least squares 0.9999
A

5.103
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Net counts. Ai
8000 — o
7000 —
/ //
6000 — i
-~
5000 — /
4000 — ,-/
i y = 521.48x +674.78

3000 L / 2
2000 + /,/’/ R =0.9999
1000 %,//

0

Al-content (% wi)|
10 12 14 16
4.26 '
? 1
Net counts, Al
x10
3000 — Al';1.78 MeV
i cement 8
{ ——— Limestone 4
Shale 3
Energy (MeV)
0.5 15 2.5 35 45
4.27
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4,
2 6
3 AR C D
4 B rawmed 10
4.16
4.16
Al
Al INTEGRAL ( per 575 sec)
(%wt) background Al Netoounts. A +CT (% wt)
2
raw meal 10 2.90 7047 8301 1254 124
B 4.04 6310 8298 1988 121
limestone 4 10.27 6577 11716 5139 135
6001 11901 5900 134 1 .719+ .253
C - 6131 11185 5054 132 10.123x0.249
A 5.60 7252 . 9852 2600 132 5.491£0.249
4.8
y = 520.86X - 309.54 (4.9)
X y 4.7 least squares
0.9998
>+ 309,54

X= 529.86



Net counts of Al
6000 —

5000 —
4000 —
3000 —
2000 —

1000 -

4.28

10.27

X

X y = 529.86X - 309.54
R2=0.9998

10

------ cditration lre

Al (% wi)

87
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